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—ZEEMEF ZERE A

EB¥Fr W F oo

5K 130,342 131,461

TE & i 4,871 6,617

AT 325,669 316,687
460,882 454,765

E A (111,497) (98,557)
349,385 356,208

19 EBWERRREMSRE

—EETME ge 92 g S
BETF T BT T

JE W & 5 R 3K (Kt AE(a))
60H AR 19,312 14,035
60 H LI E 19,915 18,984
39,227 33,019
2 4~ TEAST 3k TE S L Ath B e B 5k (M AE (b)) 305,567 249,637
344,794 282,656

Mt 7t -

(a) 7% S T B JRE i B o R K Y S B £ R 2 60 H o

(b) UM 4 0 B 4 A R D Y

W #179,223,00000 (= F =4 ##174,356,00000) o i HH—4E 8

AR (BT WA 2 R AR N R % Fl 2 EER) o i R A E H AR

A E N B R F R

i

—EETMNF R A

T T 5 W T

) 2 5% R TR P A iR K 147,324 147,294
B R i i 28,049 23,144
175,373 170,438

Tl E (24,198) (24,198)
151,175 146,240

Horh — 25 5 168,096,0007C (—FE =4 #1163,191,00070) A FE i IR B 28 £ 4F A 22 3 )8 B0 » Sl 2 JRE B SR MR - B oh > — S5 3
#50,000,0007C (=& % =4E:50,000,00070) 4 i i T8 4K 5 7 SR 17 DA HE R 47 (5 & o
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EERS
£E
—EENMEF ZERE A
BETFT I T T
A BT R T E 74 74
A B AE AT T E - 4,290
74 4,364
RITHEBELERS
@ AH
—EETNE SEREBEAE —EENEF ZERE A
BETFT T L BETFT I T T
A R &5 Bk 2,024 2,014 - =
40 R 1] 45 B 51,013 34,761 2 4
53,037 36,775 2 4
A PR 45 6 B IR T R AT DA BUER AT (5 & o
ENERRESER
58
—EEINE TERE I
BEFT b W F T
JEAS B 5 Bk
60H LR 81,622 67,546
60 H A £ 63,151 67,354
144,773 134,900
by R A5 R K I RE T (K AE) 132,408 111,246
277,181 246,146
Wik :

HC At 8 AT IR A 2 B it 456 X A IR 2 A W Y R HE W 7,373,0000C (T FE =AF i HE7,842,000780) > A5 R R Y 4y MR 68 K %

6 e 0
RREXK

H BT B 5 A 0 A R A AR ) R A e KA e R A S o DA B T R R A o
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24 RBA&X
SEREERK0.1T €8
HRGEAE BT T
T AR

CEE=ZFRCFEFNE=H=+—H 1,600,000,000 160,000

C BT AR AR
CEFECHENA-HEEF=F=H=+—H 936,340,023 93,634
“ER=FMH —H 936,340,023 93,634
BEATIRAR (B 3E (i) 7,000,000 700
—EBENE=A=1+—H 943,340,023 94,334

= IJUILEEN A = — IRy AR A T R H B 2 R A AT B S e KR T A SRR R (TR ) R R A e
Fe BR A o 452 L > S A MR A R T AN 2 R BOHS B R 2 F A AT B S AR B TR RE - BRI A A B o % R JE R At
HH P S T R T R M ) M e 2 RS R L B AT B AR AN 5% o R AT L A TR AT A 4 R A S B AN T

BREHE
—EENEF SRR
) 16,000,000 22,000,000
AT (B (i) (7,000,000) =
| 1y (1,000,000) (6,000,000)
AEH (R D)) 8,000,000 16,000,000
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24 B A (4)

(i)

(i)

1,000,00017%, 1,000,000 % 5,000,000 & & HE A Ak —FZ=F WA +HH > “FEZ=FTA_HEK_-FZ=FTH=HL
15 1 5 0.1 5T AT 18 > R AL 45 38 B AR s 58,000 T 1Y i 45 a0 R

—EEMNF ZRR A
BT T ol o i
78 B e A — T E 700 =
A Y A 350 =
Wi £ 1,050 =
OB AT I SRR AT 3 B Ay T (A
-= =FIHZTHH (Mfita) 330 =
— BT+ H H (KfiEb) 295 —
—SEBE=FELA=H (MfEEDb) 1,425 =
Bt
(a) B [ — {7 {8 B DA RS 15 0.1 570 AT 18 B % 4 - 528 48 841,000,000/ B £ -
(b) B2 [ 350 03 7 5 DA 4G RS 15 0.1 50 AT 18 B R - 52 48 86,000,000 B 1 -
A B R AT (Y B I A 4 T B A
BREHE Zax
FHA TEE —EEMF SRR —EENF ZRRZAF
R
SRR AT HHA 0.150 - 6,000,000 - 100%
CERAAE—HTAH 0.248 8,000,000 8,000,000 100% 100%
8,000,000 14,000,000
HAth i &
SERE=FE AT HHA 0.150 - 2,000,000 - 100%
8,000,000 16,000,000
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(a)

(b)

240 2 ek B 5% E 2B i
Vo T T oo Vo T T oo
£8
ZERFE=H =1 Ho a2 ) 2,848,462 443 (2,196,640) 652,265
PF A€ e R 251258 (RBFT) M2
(Mf7t2(n)) — — (1,192) (1,192)
CEEBECHEZHA =+ —HKHEI 2,848,462 443 (2,197,832) 651,073
2 AR B 1Y 5 48 = = (32,074) (32,074)
[i ba, ¥ B = = 5,593 5,593
CZEE == =1+—H 2,848,462 443 (2,224,313) 624,592
CEREBZHEZHA =+ H W2 2,848,462 443 (2,232,333) 616,572
B e sl QIS5 1258 (BAEET) 1R 2
(Bf7t2(n)) = = 8,020 8,020
CEEFZFEH =t —HKEY 2,848,462 443 (2,224,313) 624,592
Ji& 3 AT — 350 = 350
T2 A B 119 Y3 ) = = 84,662 84,662
i 52, 46 54 = = 16,421 16,421
—EENFE=A=+—H 2,848,462 793 (2,123,230) 726,025
A AR
TR A 3 R R i S 18,867
Ho A 707,158
R-ZBENE=A=+—HRFHEL 726,025
24 B g B’ 5 E 2 EE FoR]
BT oo BT oo BT oo Moo
AT
ZEEHF=H=1—H 4,085,186 443 (3,697,620) 388,009
& AF B s 1R = = (2,491) (2,491)
“EE=HF=HA=1+—H 4,085,186 443 (3,700,111) 385,518
AT IRy = 350 = 350
& AF B s 1R — - (2,366) (2,366)
—EENE=A=+—H 4,085,186 793 (3,702,477) 383,502
AR AR
T DY AR R R AR A A S 18,867
Ho A 364,635
R-EEMNE=A=1+—AHEL 383,502

R A T 5 2 1) 3 81 AR S ) AR 4 R A B > 8N 2 e w’e?’f AR AEZH =4 H o A A AR B B TR
F BB A ] Ak 40 UR i 45 4 L ik 382,709,000 (- = 4F : # #$385,075,0007T) ©
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26 RHBAE
£E

—EENMEF ZERE A
Mt it BETFT 5 T T
SRAT B 0 HE A (a) - 157
SRAT B A (a) 268,860 285,472
B\ B K (b) 24,580 34,250
A (c) 13,444 13,444
il A AR A (d) 663 1,133
307,547 334,456
R — 4F 1A 222 1 3 B 5 R (57,278) (26,049)
250,269 308,407

(a) SRATEE AR T
AN B i — A 19,025 21,248
—4E DL b AH S B i AR 239,211 16,109
W 4F DA b H A 8 i 4 10,624 248,272
268,860 285,629

(b) A 78 /3 7] J& Active Lights Company Limited » ‘& Ji& A< 24 ] dx #¢ 4 ik
HEA > K Dhdne (B R 5B R BN —F R E R (ZEE =4S
Z AT )

7\ FEHLA BR 2 | B B A | o 5% B R A I
30,000,0007C fEZH jx = FF U419 J — H 5§,

TRV = A H— YRR o 5% AR A SRS > DL S 0 e B R S n 1 5 JE A 4 B 2R (R
Z=HHESFRZAEZA TN H M DT E R AT I_J%%&hﬁﬂ%m&mﬁE’JEE\KJE\
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26 RHAE @)

(d) ANk il A SR HE A0 T

£E

—EENF ZERE =4
BETF T I T T
AR — 4 270 610
—4E DL b AH A B i AR 166 229
Y 4F DL b H A 8 i 4 320 367
HAELL | 40 104
796 1,310
il FH B A R 2 B S S (133) (177)
il FH B AR BLE 663 1,133

REHEEENHEEDT:
AR — 4 229 551
—4F DL b AH A B i AR 138 199
W 4F DL b H A 8 i 4 262 301
HED L 34 82
663 1,133

27 i 7E B 18

PESERLTE AR B A S R 2= 8 R R 17.5% (B E =4 :17.5%) {E2 B

AT T SR TN B AT B T R BB A BT SR o T A S T A5 B 1 B R — B B ] ) T A A T A LA A
130 B A8 AR HR 8 o 7E FH A B E IR R TSR G B E B MR NI

—EENF SRR

BEFT W oC

R i TE 26,910 25,019
% 4iE B IH A A (20,748) (16,999)
6,162 8,020
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27 EEFIE (&)

ENEIE B IR E S AR 2 W) (B[R] — OB [ 2 A BRI B AT W

EERBEEE (BF)

nE Htb
HEBEX HREHE B RE et
BT oo BT oo BT oo Moo
ZEETAEJNH —H 9,397 (15,903) 5,314 (1,192)
BB SR (FfE10) 6,103 771 2,268 9,142
& 58,7 % 31 41 2) 70
—EE-FE=-H=+—H 15,531 (15,091) 7,580 8,020
BB SR (FfE10) 861 (5,125) 1,993 (2,271)
& 58,7 % 478 106 (171) 413
—EENFE=HA=+—H 16,870 (20,110) 9,402 6,162

8 FE A T T R R A B B A5 R 2 T 475 e RS A R R B Tk R s B e BT & i 2 BB MERERR R EFRNE=H =+ —H o A
45 ] A7 oK R SR BB 7 15369,920,0007C (- F =4 #H#5431,152,00070) AT 4% 85 D) 4K 5 2 2f¢ JE S A o 06 45 B 18 36 48 5
i H > BR 5 10,557,00000 (B F =4 ##37,913,00000) # ik ~FEFLE=H =+ — H K-
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GERERERME
(a) BRBADER (B1E) BEXTHNESNERSMENYER

—ZTEMF SRR

BT T I T T

W B i s Al (s 8 92,218 (37,982)
e 50,282 51,360
Bt R A Y s - (110)
B A [ S R EE Y e 1R 221 463
B ) 2 T AN 0 WA ([ 438) R 4 (25,500) 33,230
e M W AE () (2,800) 4,800
il 3 i 15 B8 AH <6 (30,080) =
4 £ e A 2,405 2,422
FE U A (7,033) (6,988)
il S 3 27,120 29,040
Jg Sie A (1,084) (1,946)
T 5, (Wi 2%) /s 48 (3,573) 405
I VAL B8l 4 A T A S i 102,176 74,694
wRWAY  (8m) 6,823 (1,166)
R i B Sk B TEL A ERTE () e (3,950) 3,244
JRE AR B Sk e B T R o (D) 11,786 (43,798)
A B R N | B R A AR K (K m) (3,531) 2,172
2 B B A T IR 113,304 35,146
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28 HZEBEHKREXRWTE &)
(b) FEANMEES D
RITERR ®BEHAE REX (8F A BR i
RUAE EiE =) LPERE BITERR et
BT WMo BT BEFx  BEFxr BT
ZRE AR
ZHA=+—HM&% 536,052 1,117 94,077 1,461 = 632,707
BB B ERA () 58 16,221 (789) = = (2,014) 13,418
B if AR A% 1 Bl A = 759 = = = 759
iEE 52, 2% %A 4,007 46 = 12 = 4,065
ZERE =4
A=+ —HI4 R 556,280 1,133 94,077 1,473 (2,014) 650,949
BEMEE (RE)
AR ] (33,448) (593) 1,050 = (10) (33,001)
B if AR A% 1 Bl A = 81 = = = 81
iEE 52, 2% %A 241 42 = 133 = 416
—EENF
=A=+—BH&E 523,073 663 95,127 1,606 (2,024) 618,445
29 HRAEE
£ B
—EETNE ZERE=AF —EENF ZERE A
EBE¥Fr W T oo EBE¥Fr W Mo
(a) R B4 ) A BRER 47 A5 B T AE 4B R
B I8 2 - = 768,910 1,169,637
Al 4
B I8 2 - = 2,374 2,246
(b)  FIRAEH 5,448 7,262 - —
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30 EXEHEE
(a) A

R EERME=ZH =+ H SEEAER TR EEEE TR R REHEBENT

—EENF ZERE A
EB¥Fr 5 T T
+ b R
— 4N 165,607 152,488
—FEHEMHAER 132,273 126,706
297,880 279,194
Bl
— 4N - 17
297,880 279,211
(b) A A
RO EENAEZH =+ — H o> £ E A AT S S E T 8RR B E R & BT
—EENF ZERE A
EBE¥ T T o
+ b R
— 4N 21,496 29,400
—FEHEMHAER 12,841 13,459
34,337 42,859
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FHEALXRS

T B A S B A I T N 2 ) T AT R TR S 5 MR W% AR A By T TR R AR BRI H R S TR AT

1] A7 B 7 D (a)
1] A7 R 7 2 ] i BBORRL < i A (b)
] — Z A B FWOROR S A (B RET19(b))

] — A B A R S AR B R (K aE26(b))

] — % S5 SAAE R (B at26(c))

—sEmE
BMTF

37,753
1,812
4,905
1,450

774

— BB

—_—.

it I T oo

34,886
1,811
4,753
1,774

746

(a) A B T A R AR AR A G dee A A R — SR BT BROA T B B 2 ) B b AR A ) S ROR A A A A D e i A B

A o R R R MR e At B = 7 R R

(b) T RER AN T H A R A R A F B (SR ) A BRA R B8 BLAT R A ] X International Optical
Manufacturing Company Limited » A 24 5 i) e 4 2 I 20 7] — 8 B (R A 7l — 354 HL60% /5 HE - %2 37 1 55 Hh ik - DA
FELFH B 56 7 2 o B 3 B AL 2 B YR N Y H T A = 4F o LAY I R W 95,0407T K 55,900
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FEBREHR

MEFFMAELA TR AR EF GRS R BN EBRIRETT 2 B8 M 24N A2
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REEZERAF
T2 AR A I BRI B TS TR T i R M AL P 2 AT R A ] o
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